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SOCIAL WORK

Paper II

HUTSTRTE
goatent 11

Time Allowed : 75 Minutes]
Note

[Maximum Marks : 100

: This Paper contains Fifty (50) multiple choice questions. Each question

carries Two (2) marks. Attempt All questions.

LN ~
qd =T ST e

: 1 YU THYT UATE (50) SgUi U STRd. Wedsh YAl €I (2) T 3T

Who is closely associated with the
study of ‘Group Dynamics’ ?

(A) Ruth Smalley
(B) Grace Coyle
(C) Kurt Lewin
(D) Bales

Assertion (A) :The practice of
social group work
is important for
social action.

Reason (R) : Social Action is
essentially a group
work activity.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) 1is not the correct
explanation of (A)

(C) (R) is true but (A) is not true
(D) (A) is true but (R) is not true

T TARTerd=aT ST IEE AT Tl deh!
HIV SoeEl Hefd 3Tg 2

(A) &Y
(B) 9 ®E
(C) /d elA
(D) s

faam@ (A) : TESmEET IR GHISS
FdTETe! Hewequl Tl

ROT (R) : 9IRS Sl &l STE¥IH
ST T HEAdIA SUHH

3R,
@il Fehdishdidd Arg Tl e
{0
T
(A) (A) 9 (R) Tl &R 3ARd STIfor
(R) T (A) o T TILHI R

(B) (A) 9 (R) Tl SR 21=d 971 (R)
T (A) T TgH TR AR

(C) (R) § SR 38 90 (A) § I
3R

(D) (A) § IR 38 90 (R) § I
EIE

[P.T.O.



The following are included in basic

skills of social group work :
(@) Skill in purposeful relationship

(b) Skill in

programme

development
(¢) Skill in communication
(d) Skill in leadership

Choose the correct answer from the

codes given below :
Codes :

(A) (a), (c) and (d)
(B) (b), (¢) and (d)
(C) (a) and (b)

(D) (a), (b) and (c)

Which one of the following is not a

part of group processes ?
(A) Sub-group

(B) Group diagnosis

(C) Group meeting

(D) Isolation of a member in the

group

MAY - 20216/II—B

a N A JaY N ¢
CTATAYShT higl hIRTCATET T Shld=Al

TAYd BRI FHER BN
(@) SErYUl FEYEEfa e
(b) wriHA foerEaf S
(c) HTIATEE IR

(d) Tq& FRE

Tt focied Sehaisdia ard g3
faer

Hehdich :

(A) (a), (c) T (d)

(B) (b), (c) 9 (d)

(C) (@) = (b)

(D) (@), (&) F (c)

ETeAedeh! iU T Wfsheral 9T ATEr
Aqe ?

(A) 39T

(B) TefeH

(C) Tesieh

(D) Ted FewmEl faerTa




Which of the following is a reference
group ?
(A) Occupational group

(B) Group taken to evaluate one’s

own aspect of life
(C) A relatively larger group

(D) A group which allows for social
mobility

Characteristics change tactics and

techniques in social action is :
(A) Consensus

(B) Consensus or conflict

(C) Conflict or contest

(D) Group discussion

Building consensus is one of the
characteristic method of the following

community organisation model :
(A) Locality Development Model
(B) Social Planning Model

(C) Social Action Model

(D) Social Participation Model

MAY - 20216/II—B

@eileAdehl o e e 3 ?

(A) S e

(B) A=A SaA{auaeh JeAhATdre!

A e
(C) TEEM= gl T
(D) "SR TAsiierdd qLaril qum

e

IR Famed afTeayul sta gadl
g T WU :

(A) HI wefao
(B) "o ferar faig (gored) =0y
(C) Ty forar Ny iefan

(D) wqe ==

EeTeyeh! TS FeeTd hIvd HTEY
I AefauaEel afreayqul o ?
(A) Torfer o 9&q

o o

(B) 9IS 1

-
ISl HlwY

(C) §HI® Hedl &Y

(D) HHISTHR FEUF 9&q

[P.T.O.



10.

The principle of inter-group
approach in community organisation
has its roots in understanding of :

(A) Communities within comm-
unities and overlapping and
inter-penetrating communities

(B) Secterian groups within
communities
(C) Caste and class groups in the

communities

(D) Individuals and groups within

communities

Who wrote the book “Community
Organisation for Social Welfare” ?

(A) McNeil C.F.
(B) Kuenstler Peter
(C) Khinduka S.K.
(D) Ross M.G.

Social system approach in
community organisation practice

examines the :

(A) Local social functions
performed by members of
community

(B) Prevailing discriminative
practices among the members of

community

©)

Human Resources available in
the community

(D) Division of Indian Society in

different Varnas

8.

10.
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TS FeeTHHd STR-TE hagsel-

FHIATAT  qTATH

Aqe ?

HATEMT  hRITd

(A) TEEISAT ™ 9 TR

ST SATR-TowT TS
(B) THEMINIA HGI g T2
(C) HHEEme S o = e

(D) HHSEA ekt A0 T3

TS SHedTvTHIeS! THEE Foed (Hegfel
SO ®R e daheR)
g vl fafear 2

(A) "o H.TE.

(B) uer fyxx

(C) fags Ta..

(D) TE TAS.

TIE T UGAmEd WIS asdl
g (FTATSAT) HIME G0
HA ?

(A) FIEE 9Tl IR grSaa
T |HIfSTeR

(B) WHSHMA WewTHE A gafaq
YT T

(C) HHSTATd 3IUcTsdl AHod HIAS
TETEA

(D) YRdE T fafay soiaesd snee
IEEISE]




11.

12.

13.

Social work research primarily

focuses on :

(A) Social work intervention
(B) Social welfare programme
(C) Social welfare policies

(D) Social work administration

Which one of the following is not a

probability sampling ?
(A) Systematic sampling
(B) Stratified sampling
(C) Cluster sampling
(D) Quota sampling

A researcher who has already some
knowledge about a phenomenon but
he/she wishes to know more about,

adopts :

(A) Exploratory research design
(B) Descriptive research design

(C) Explanatory research design

(D) Experimental research design

11.

12.

13.
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qrSieh e GENEE HEAd: § R T ¢

(A) TSR hrd HegEelt

(B) 9MHISIh  shedTo] CapERs
(C) 99 & gRo

(D) TES h1E YIEA

TIEIeTdeh! IV HYed AT fee 95l
T ?

(A) FeEereag T Tere

(B) &{@ F91 e

(C) Yurh -1 fae

(D) wi T e

TEITE HENEeRT e ferdtered e
YA

| ST Ay frerdtared

sifyeh SUA el e EedE

TICACUsh! heT=l Taad I 2
(A) STEEUCH HINYA  STREET
(B) SUMTCHS HIMEA STREE]
(C) TAEHRIUMHS HIMEA  SAEIET
(D) IR, WeieA SR

[P.T.O.



14.

15.

Match the following for their
association and choose the correct
answer from the codes given below :
List I
(1) Karl Pearson
(z1) Student
(111) Wilcoxon
(tv) Man-Whitney
List II
(1) T-test
(2) U-test
(3) Chi-square
(4) Sign ranked test
Codes :
@ (@) (@) Gv)
A 3 @O @ @)
B 2 O @ 3
< @ 3 @2 @
D @2 3G 1 @
Consider the following statements
and select your answer according to
the codes given below :
Assertion (A):In quantitative
research, resear-
chers prefer to have
hypothesis.
Reason (R) : Quantitative rese-
arch is primarily
based on deductive
paradigm
Codes :
(A) Both (A) and (R) are true
(B) Both (A) and (R) are not true
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

14.

15.

MAY - 20216/I11—B
Tt feeiedn g9 FrEamHeEd aE
HAYUTAT YR 3Teh Siieal el 3T
arell feded Hahdreiqd drd SR

Taer
et 1
() e fusTR
(i) foremeft
(iii) ToreTeRTeRIM
(lv) H-fget
et 11
(1) A-x
2) F&
(3) HIE-TN
(4) WEF IHg T
i
@) G G Guv)
A 3 1 @ @
B 2 @O @ 3
C @ 3 @2 @
D 2 B QO @
wreftel faum snfor sRomET foar wee
wrell fededar Soaredid 9T SR
aer
faam A)

TEATHE TN EATHER
TeNEh ST LAH
12111 e B o

HEgTcHs HINET ®
qegq: frifaa S=nfie
YEUER SR 378,

T (R)

Hehdieh :

(A) =T (A) 9 (R) ISR 21T

(B) a8t (A) 9 (R) Tehid 3TRd

(C) (A) T TR ¢ 97 (R) Fhia
3T

(D) (A) ¥ I 38 907 (R) § IR
3T




16.

17.

The Sexual Harassment of Women
at Workplace (Prevention,
Prohibition and Redressal) Act was

passed in :

(A) 2014

(B) 2013

(C) 2012

(D) 2011

Assertion (A) :Affirmative action
is a  positive
discrimination.

Reason (R) : the

interests of a

It protects

particular margi-
nalized section of

the society.

Choose the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) 1is the

explanation of (A)

not correct

(®))
(D)

(A) is true but (R) is false
(A) is false but (R) is true

16.

17.

MAY - 20216/I—B
Fmarear fewrot ofecia dften oo
(wfcr, St ST FRTeRoT) IR SR
et gRid Smen ?

(A) 2014

(B) 2013

(C) 2012

(D) 2011

faam™ (A) : ‘wEREFE FA R

ThNHE AS 3R

&ROT (R) : 9OWMA fafdme dam
eelt feded gehdishiqd a3
IREEIE

i

-~

(A) (A) 9 (R) T=I S{sR Ted 101
(R) ¥ (A) 3 3TF TEIH Y

"

(B) (A) 9 (R) <=
(R) T (A) T T TILHI AR

U 3TMed g

(C) (A) g ssR 318 90 (R) & I
CIE

D) (A) & IF AR T (R) § TN
Sl

[P.T.O.



18.

19.

20.

The role of social women in school

SELHNE 18 wvvvreerrreereereene. .
(a)
(b)
(c)
d)

Preventive
Rehabilitative
Enabler
Mediator

Choose the correct answer from the

codes given below :
Codes :

(A) (a), (), (), (d)
(B) (a), (b)

(C) (a), (®), ()

(D) (®), (o)

The Prevention of Corruption Act

was passed in the year :

(A) 1998

(B) 1988

(C) 1978

(D) 1987

‘Passive euthanasia’ is .............. .

(A) The withdrawal of life support

to patients
(B) Allow to take lethal injection
(C) The withdrawal of food
(D) Allow to suicide

18.

19.

20.

MAY - 20216/II—B

~ ~ <. c N o
IMAT &5 HATSRTa Rl fHeh
S TR T9d 2

(@) WfqEHER
(b) qIIEAER
c) T
(d) T=TE>

(a o

Trel fooiean Hehdieiqd JTE I

IREEIE:

Hehdiah :

(A) (a), (b), (c), (d)
(B) (a), (b)

(C) (a), (b), (c)

(D) (), (c)

TTAR e geh SIEGT v st g
e ?

(A) 1998

(B) 1988

(C) 1978

(D) 1987

‘g T=eme’ WU

(A) Tl Sfte WREA YUEll ki
i

(B) WTOTSTh 08 FE HUAE qRAT
=l

(C) 31 T0 sig HIO

(D) STHEAT WA <0

10
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21. Feminism focuses on : 21. formEmeEm q:s;i\oic& T e
(A) Recognition of female .
(A) WAfgAr=A GY™ |l
domination
(B) Subordination of women’s (B)
labour (C) HAfgerr=n YfHehen WRR
(C) Acceptance of women’s role . N .
(D) geureAl YfAehsl iR
(D) Acceptance of role of male
29. AU HEXATIA TOMHICT &
22. Disaster management strategies
should be : (A) gfdfsraras
(A) Reactive (B) gaTHIa-aheh
(B) Proactive
(C) T cHN
(C) Counteractive
. (D) WeRfehTcHS
(D) Demonstrative
23. ‘Apartheid’ refers to .......ccccvvvvvvnnnnns 23. ‘oifage’ TS Rt
discrimination.
(A) FHTSR
(A) Social
(B) TS
(B) Political
. (C) ot
(C) Racial
(D) Economic (D) st
11 [P.T.O.



24. Assertion (A) :The

inclusive
growth approach
takes a long-term

perspective.

Reason (R) : The focus is on
productive
employment as a
means to raise the
standard of living of
the poor and
excluded groups
through increasing

their income.

Choose the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

24. fagm™ (A) :

MAY - 20216/II—B

gagarave gfgant

STEfTaAT g sSthiA

TR

®NUT (R) : 91 Hhsfag 3cqGHh

TSR 3TYH, A= T

SITOT STEHTeT HH=A

SIS
TR g1 aTefan
TH.

die ch®a-

o N

fediea Fahaishiqd AT I

faer

TITe

- -
-
-

(A) (A) T (R) Sl TSR TTed AT
(R) & (A) = 3TIF TTLHI T

fal

(B) (A) 9 (R) gl

gUe 3Ted gUl

(R) T (A) ¥ 3T TIRIHII e

(C) (A) & SN R 79 (R) & IH
Sl

D) (A) & I 3R 99 (R) ¥ N
3

12



25.

26.

27.

Child helpline no. is .....cccccceeeeeeenns .
(A) 1084
(B) 1098
(C) 1007
(D) 2001

is associated with

National Alliance of Peoples
Movement (NAPM).

(A) Anna Hazare
(B) Arvind Kejriwal
(C) Medha Patkar
(D) Rajendra Singh

is development that

meets the needs of the present
generation without compromising
the ability of the future generations

to meet their own needs.

(A) Social Development

(B) Sustainable Development
(C) Inclusive Development

(D) Economic Development

25.

26.

27.
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TSR Hed LU godelsd 4. § 318 :
(A) 1084
(B) 1098

(C) 1007

(D) 2001

A AT AE fUueq HeaHw=ei

(C) HHT TRt

(D) T o

BT 37T faenm S vfasandial

U= amaie desiie 9 hidal odHM

~

U= RS 9TTeal.

(A) IS oo

(B) IM@=d faemg

(C) TuEvEs foermg

(D) 3mfefer foerra

13

[P.T.O.



28.

29.

Right to Information Act came into

existence in the year :

(A) 2004

(B) 2005

(C) 2006

(D) 2007

Assertion (A) :The core domain of
CSR goals are triple
bottom line is

people, planet and
profit.

Reason (R) : It is the commit-
ment of business to
contribute to sus-
tainable develop-

ment.

Choose the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) i the

explanation of (A)

1s not correct

(C)
D)

(A) is true but (R) is false
(A) is false but (R) is true

29.

MAY - 20216/II—B

.q.l.%Fﬂ. afw w{ ..................... _q.la.sﬁ

AT 3TTe.

(A) 2004

(B) 2005

(C) 2006

(D) 2007

faa™ (A) : f9.wd@sm. (CSR) =
e 2 B-de dEn
BN —deh, U8 S
TR B

SHIUT (R) : IeN IMMad Taehrdr=A
qEME SENTE ST-
TIE 3T TEUTdN.

aet feaea Hehdiergd AT 3T

IREEIRE

‘!i#l‘l%ﬁ :

(A) (A) 9 (R) T=I SR ed (01
(R) T (A) ¥ T TIRHI 3T

fal

(B) (A) 9 (R) T
(R) T (A) 3 T TILIHI TG

gUe 3Ted gUl

(C) (A) & SR 3R 79 (R) € IH
Sl

D) (A) B g M8 T (R) B SN
S

14
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(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

30. Assertion (A):India is unlikely to 30. faemT (A) : fafay oo PR
achieve all the e o
g%Tl'{ [IRHEd h{UY[HIAI
Millennium
I, Heersh foem &9
Development Goals
halad YIa & RN
(MDGs) set to
improve its various
social indicators. HRUT (R) : YRAE USTehid Haeel
Reason (R) : Indian political arfor | &
system and social A € e STEYD
policy framework is aTTed.
a major hurdle. N o
LAl Tqcdedl HehdlehldH 'eﬁ'rq SASES
Choose the correct answer from the 2 :
codes given below :
TUriey
Codes :
A) (A) 9 (R) Tl SeR 3TRd Il
(A) Both (A) and (R) are true and R () F ()

(R) T (A) ¥ 3T IR 3T

(B) (A) @ (R) Tr&l SR 3A&d YUl

(R) T (A) o T TILHI

(C) (A) & s 3E 9 (R) & b
Sl

(D) (A) ® 9 3R 99 (R) ¥ SN
Sl

15

[P.T.O.



31.

32.

33.

Social Action is @ ..ccceeeeeeeeeeeeienin.
method.

(A) Primary

(B) Secondary

(C) Additional

(D) Tertiary

The oriental philosophy means :
(A) Ancient

(B) Eastern

(C) Western

(D) Modern

Which of the following is the core
skill required in social work
practice ?

(A) Resource mobilisation

(B) Communication

(C) Co-ordination

(D) Planning

31.

32.

33.

MAY - 20216/II—B

(A) 9=H
(B) draiced
(C) TIf=mTed

WEEIEIEED

AT W Tedehl R0 H&d
HRICAE ERIHRA A 2

(A) FETHA S[aTed

(B) HTH

(C) "H<3

(D) fE~H

16
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34. According to whom social work deals | 34. HIUT=a1 Wad WHTS®TE § AIHIHTS!
with economic well-being and 3R fomm 9 ST &iq arme!
sources of happiness for people ? A ?

(A) H.H. Stroop (A) TA.TE. &9
(B) G. Konopka (B) Sf. @hiAr=n
(C) Friedlender (C) freetex
(D) B.E. Younball (D) sitg. Feet
35. Assertion (A) :The role of | 35. faam™ (A) : =aIgIfass FHIS-
professional social e o1 yftreh =T
worker is - -
. HHTSTATA dedlfedldel d
empowering and .
capacity building 9T T2 Gaeishol d
of the oppressed AT SO 2.
and the HRUT (R) : AE@@fas  FHS-
marginalized e e . N
. . nldencdlons  AHISIIdAl
sections of society. i
Reason (R) : Professional social SIRTT TET=AT HHEI
workers have GRS GG R ED
requisite skill and FITCT & ATl
se.nsitivity to deal X
with the problems N ..
of such sections of Clfcdl Iqededl dendlenld ‘é:ﬁ‘l‘&[ EAsES
the society ferer
Choose the correct answer from the Hehdih :
codes given below : A) (A) T (R) S & seR amde snfin
Codes : .
(A) Both (A) and (R) are correct and R) T @A) F i el Bl
(R) is the correct explanation (B) (A) 9 (R) <IeRl % 3ed
of (A) (C) (A) ® a0 &R, 90 (R) & 9%
(B) Both (A) and (R) are not correct o
(C) (A) is correct but (R) is wrong
(D) (A) is not correct but (R) is D) (A) kS 3“%’ T (R) ®
correct e
17 [P.T.O.
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36. The Constitution of India provides | 36, WRd™ WAYMNA qaAqd TSR .
the fundamental right :

(A) uft=n SifEeR
(A) Right to property

(B) Right to equality (B) WHMATH SAfHHR
(C) Right to leisure (C) SINMrET STf¥ehR
(D) Right to welfare (D) FHeAToTE SAFHR

37. Assertion (A) : Resurgence of civil | 37 fggm (A) : =70 IO TTEC

society believes in .
Y A AT eAhT=
resurgence of

Tee AR faverd Sad.

autonomy of
communities and HRO (R) : USIfwg Jeged anrfun
collectives of .
REEIR q&TT=
people
HAIRTUMeR faeamd o
Reason (R) : They don’t believe
. .
In empowerment
of political leaders Tt feded Hehdishqd A 3T
and parties. fraer
Choose the correct answer from the e
) Hehdich :
codes given below :
Codes : (A) (A) 9 (R) SI=I s 3Aed 301
(A) Both (A) and (R) are true and R) & (&) ¥ & I T e
(R) is the correct explanation (B) (A) 9 (R) C:I*-ﬁ':\l ®|{‘|®|{ d—il%d qu7

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct

(R) T (A) ¥ 3T TIRIHII e
(C) (A) & s=R 3T} 90 (R) § I%

explanation of (A) 3TE
(C) (A) is true but (R) is false (D) (A) ¥ 9% e 9 (R) T R
(D) (A) is false but (R) is true e

18
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38. ‘Swadhar scheme’ is concerned | 33 ‘wEymw JomT’ AT HElg T
with :
(A) wfgen oToeR
(A) Women Prisoners
(B) Women survivors of natural B) SR dr=aeieEl Slsedl
disaster (C) T Hfgen
(C) Physically challenged women .
(D) AdehaRMe &fdued Afgen
(D) Women victims of terrorism
_ | 89. TUShA HE ARIH wiA ¥
39. The following are pre-requisite in
order to register a social welfare TAETF AT
organisation : (@) =T B ST |HERTe Sl
(@) Good intensions and social
) (b) ©eT
consciousness
(b) A Memorandum of Association (c) T THE
(¢) A group of individuals d) TR 29 ofr ='W
(d) Aims and objectives of PN . -
o Yldl Iqadedl Hehdlshld Sigsn  STRIHI
Association
e &1
Choose the correct answer from the
following codes : Hehdich :
Codes : A) @, b) 7 (©
(A) (a), (b) and (c)
(B) ), (c) T (d)
(B) (b), (c) and (d)
C b) d d
©) (@), &) and (d) (C) (a), (b) T (d)
D) (a), (c) and (d) D) (a), (c) T (d)
19 [P.T.O.



40.

41.

The demographic transition refers

|7 SRR .

(A) An increase in the birth rate
(B) An increase in the death rate
(C) Vertical growth in population

(D) A change in the ratio of birth
to death

Assertion (A) : Homelessness is
steadily growing
as a phenomenon

in India.

Reason (R) Housing is
becoming unaffor-
dable the

common person.

for

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) i the

explanation of (A)

1s not correct

(C)
D)

(A) is true but (R) is false
(A) is false but (R) is true

40.

41.

MAY - 20216/II—B

AhUEAe aeel TeUN

(A) SIS €18

(B) FogEUdie o8

(C) S a1e

(D) S 3O JRGIT O JHIOT

EHS!

faem (A) : YR IR ArRTAT
Jed a9 3.

HRUT (R) : TAHHRO el 3
B! RO 7 ISR
TR,

aet feaea Hehdiergd AT 3T

faer

‘Fﬁﬁ?ﬁE :

(A) <= (A) 0T (R) SRR 315 (R)
T (A) T TH SRR IR

(B) T (A) 3TfUT (R) SR 3Ted W
(R) § (A) & 3T TR RN

(C) (A) T TR 3¢ g (R) § TH
3R

D) (A) T I 38 WJ (R) T SR
3T

20



42.

43.

Farmers suicides are generally
attributed to :

(a)
(b)
(c)
d)

Change from food to cash crops
New economic policy
Depression among farmers
Industrial policy

Select the correct answer from the
codes given below :

Codes :

(A) (@) and (b) are true

(B) (a), (b) and (c) are true
(C) (b) and (c) are true

(D) (a), (b) and (d) are true

Current debates around the land
acquisition bill revolve around the
following clauses :

(a)
b)
(c)
d)

Consent clause

Social impact assessment clause
Special economic zones
Compensation clause

Select the correct answer from the
codes given below :

Codes :

(A) (a), (b), (c) are true
(B) (@), (), (d) are true
(C) (b) and (c) are true
(D) (a) and (b) are true

42.

43.
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TTATA AT Hed AR STCHEAT
TS

(@) ST=TEATAT IRATIYT SR
el e

(b) e SMfer &R

(c) VdeR-amaee ST

(d) e &R

TTell feeed Hehamhi 3T S|
[EEERCTUIE

Hehdleh :

(A) (@) 30T (b) SR TR

(B) (@), (b) 30T (c) ST A&
(C) (b) =AM (c) SR AR

D) (a), (b) 0 (d) TR 3T
et o sifee fagrrmTEE

FHIVET SO ARfaag srded ?
(@) S

(b) WIS W& Hedehd

(c) Tav™ smfdew &

(d) THEHIRAE

TTelt feeed Hehaehid 3T Sl
fee =u .

Hehdich :

(A) (@), (b), (c) T IR A&
B) (@), (b), (d) & s &
(C) (b) MU (c) B SI=R 3
D) (a) &0 (b) T TS 3

21
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44. The theory of moral development

45.

46.

among children was proposed by :
(A) Skinner

(B) Kohlberg

(C) Piaget

(D) Bandura

The proponent of ‘Need for

Achievement Theory’ is :
(A) McClelland

(B) Maslow

(C) Herzberg

(D) McGregor

Which of the following is not a
role of a caseworker in a school

setting ?

(A) Assessing reasons for children’s

scholastic difficulties

(B)

Counselling parents

(C) Working with teachers to

enhance students well-being

(D) Assisting children through

academic inputs

44, IARMETA AfdeR

45.

46.

MAY - 20216/II—B

~

faerTaTeiel T

HIUt QR el ?
(A) THIT

(B) whieTerert

(C) frmst

(D) =gy

Tt g S v Bd ?
(A) HETAS

(B) Wt

(C) wsiert

(D) HARITR

M A STkl Fer=d  shrddhare
TICACTUsh! IO T A&l TR ?

(A) HAT=a1 TMLSHAfera Iusar=t
FHIROTHHET

(B) UIcTohT™ TRIUQSM  ShI0]

(C) TorerrTeRieR qarr=n fashre garame
HE H

(D) forefomgR HAAT HEAd HI0)

22



47.

48.

49.

Who client-centred

therapy ?

(A) Carl Rogers
(B) Anna Freud
(C) Paul Goodman
(D) Addler

proposed

Problem-solving model is related
to :

(A) Gladstein

(B) Perlman

(C) Mary Richmond
(D) Garret

Which of the following is a type of
classified diagnosis by Helen
Perlman ?

(A) Current diagnosis
(B) Medical diagnosis
(C) Clinical diagnosis
(D) Therapeutic diagnosis

47.

48.

49.
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st fsd STaRYSd vl qi&hd
Helt ?

(A) e WTH
(B) 31 WwrES
(C) Ul T[eHA
(D) e

T faRo UeY ¥ IRt Seted
AT :

(A) Tefefied

(B) Teiwd

(C) T f=ve

D) N2

WICACTUhT RV UGd & ol IetHTe]

ihd M Ugdi=n YR e ?
(A) TaaH fem
(B) dusg oM

(O RIUICEPCEREHE

(D) SUIRIHe THeM

50. Empathy means :
50. Yl WIS
(A) Moods of the person
(A) et H feert
(B) Feeling with another person o
(B) SH-I1 HKIIfoI=l el
(C) Development of an emotional N ~ N
perspective of the problem (C) HHETEd=AT HEsh GEE[hIUITH]
El
(D) Need to understand the person’s R
problem (D) K= FHE SUE Sl TS
23 [P.T.O.
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